Domain Assessment * Expressions and Equations

1.

Which expression is equal to (12*) 727
A. 127°
B. 12°°
c. 12°
D. 12°

Whatis ¥64?
A. 2
B. 4
C. 8
D. 16

Which is equal to V817
A. 6

7
C. 8
g

Which is 23,578,000 written in scientific
notation?

A. 2.3578 X 10°
B. 23.578 X 10°
2.3578 X 10/
23.578 X 10/

5.

6.

Whi

A.
B

C.
D.

ich is the quotient of%’?
3.8%x10°
3.8 10"
3.8 x 10"
3.8x10"°

Below is the graph of a line.
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Which is the slope of the line?

A.

wlw hlw N~

w

Scanned by CamScanner



7. Nadiahasa savings account that earns 8. Sunil wants to find a side length
interest at a rate of $2.75 every week. of a cube with a volume of 27 cubic units.
Which graph shows Nadia's earnings To find the length of one sidae, Sunil sets
over time? ; up the following equation: s* = 27.

Which equation below shows the correct

A. Nadia’s Savings value of s?

10.00 .
f : A. s=V27

llars)

Saving

9.00
8.00 I :
: 3
8 600 / B. s= V3
= 5.00 H
W 4.00 /l : c
y :
2.00 : 3
100}/ : D. s= V27
0 1 2346678910 : '

7.00
/ -
_ A3
3.00 g=2
Number of Weeks

B. 4 Nadia's Savings 9. Whatis the solution to 3x +1=4x — 67
10.00 ;

o A. x=5

8.00 -

s : i  B. x=6

5.00 . :

4.00 C x=7

" D. x=8

Savings (in dollars)

2.00
1.00

0 1 283456780910
Number of Weeks

10. During a presentation at the

C. 4 Nadia’s Savings :
10.00 Battelle Planetarium, Magdalena learned
=  that the average distance between

Earth and the sun is approximately

7.00 |/ 2
9.3 X 10" miles. What is the average

6.00 [—
. :
distance between Earth and the sun

5.00
4.00 /
in standard form?

3.00

2.00 | :

1.00 :

0 123466780910 : A. - 93,000 miles
Number of Weeks

i B
L Nadia’s Savi
kol = i C. 9,300,000 miles
D. 93,000,000 miles

9.00
8.00
7.00
6.00
5.00
4.00

3.00 T
2.00 T
1.00

0 1234567891 °
Number of Weeks : G 0 On ’

Savings (in dollars)

930,000 miles

Savings (in dollars)
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11. Theequationsy = 3x+ 4andy=x—3

12.

are graphed below.
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What is the solution to this system of linear
equations?

A. (—3.5, _6.5)..
B. (—3.5,6.5)
C. 135, —6.5)
D. (3.5,6.5

Neptune is one of the larger planets,

with a mass of approximately 1 X 10% kg.
Mercury is the smallest planet, with a mass
that is approximately 3 X 10 kg. About
how many times larger than Mercury is -
Neptune?

A. 333
B. 3.333
C. 33,333

D. 333,333

13.

14.

15.

Solve for x: —3(2x +1)+ 3x=6x+3

A. —

w
|
Wi Wl

winy wi=

Which is the best way to find the
solution to the following system of linear

equations?
3x—2y=18
5x+2y=14

A. Substitution, because you can easily
find the value of x.

B. Substitution, because you can easily
find the value of y.

C. Elimination, because —2yand 2yare
opposites.

D. Elimination, because 3xand Sxare
opposites.

-3
Which term is equivalent to 22—2?

A.

Nj— o|— m|_,
N

o
N

Go On?
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